Round the number

81,495 to the
nearest thousand




football costs £3.00

ow many footballs
could | buy with £50.007

l
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4000 divided by 5



Question

1800 — 345




Question

/287 divided by 7







Numeral?
XVII




Numeral?
XLV




Which of these numbers
is a prime number?

35 36 3/ 38 39

6187 + 2999
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The diameter
of a circle is 25m.

What is the radius
of the circle?

Question

19

Question

100 = 2149




’%
M/m/g

Bmgo

Which is greater

What is 20% of 1207
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Fill the gap to complete
the sequence...




What s this Roman
Numeral?
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